C6H

C1H (K) ) C3H (&)
k32 Bt —AHY : BR% —ABY | |#z% BER% —AZY
ERDE ERRE =
£ 60 |qyR/y 60| [¥ |[HEX(ER 0| |7 |[BEXER) 70
v L |xkpE BR& 10| | |[xuzE % 10
gm 43, 26| |7 [BRE 254X 15 /"i BB R54R 20
v & = 08| |- = 2
5 %0 x> F— 30| |4 [LeSK 12] [y [L&SK 15
 |EoEmigv r— F40| | - N =L 08| | . |EB& 1
3 = |AEXLFCHRA) 20| | S EmLs G xdm) 10
AL Vi 30| (A [AB 10| |1 & 1
’\Z B IAS 5 (Y MEEHEE 5/ I& [LR)SESER 20
N e 05| [~ [ByBSE 2| &V [Frny 40
- 4 CEH 2| |7 |EhFE 30
I T M4 8l | B 2| |4 |EockE o 15
4% (B FryT &I RE—F IN5-b 8 L&5 1.5 2 AS 7
3 + |BE 0.6 et 5
(B) RF 49 I F—R f15] |4 [ FELOYA 06| (L |H34mH 1
= L L _EH 0.5
 |R—av 5 43 206| | [LM)ABR—T 3
2 A BEVAITAT 18] [+ b [Lesw 17
'E“l FhE 40 g £0L 40 g BiE 05
| AS 15 12 =p5Y 15) 3 ZL&S 0.06
% [XAR=CTIL) |1 [AB 5 iz |[FEILUA 0.4
£0y— 2| |5 |wyscE 1| ¢ [cass 1
JASd) 0.5 (B) R BRLyS VY 10 e 50
HS5 M 05| |2 (]
LR bwhkE 8| |¥Y LRSS FRER 20| [T *° |43 206
2 LR A5 R—TF 3| |7 [EwzE 20| |7
FAESHE 1 z; hra 3 3 (A LLvt 20
BiE 07| |y [Elbdéddvk 08| | ThARA 4
8 |CL&S 003f v |¥SFiH 05| | 28 |frt-Ha il 4
FEavY A 05| [ |[LRABR—=TF 3|
o—yx 01| |h  [FEaLUA 0.5 A Jayay— 35
5 120] (@ [L&SK 0.8 36 |&ig 0.5
# |&r 0.7
~ L&D 0.03
CFEH 0.2
5 140
SYHRFYY 15g(fBE) 15




C6H

C6H (A) C7H () C8H ()K) C9H (K) C108 (£)
B4 Bmb —AHY | |#zsa Bmd —A&Y | |#ez Bad —A&Y | |#zs Bndb —A&Y | |#Is Bmdb — A%y
EEDE ERDE ERDE ERRE ERNE
RUATEIE M-2 50| ¥ [BEXER) 65 § BmEK(EFE) 70| [N |BFS 40| [ |[HEXER) 70
7 @y m3-6 70| (¥ [mEEXK 15] |= & [kpE Hit 10 |2 [pzdg®) 032| [0 [kmzE Bk 10
;2“ () F> 00| (B [4£m 2542 15 f 8 [ommx vk 04 £ [x—a> 5
D % YRS 8| |V ™[4 206] | 45 | F ey 44| |2 |mo=zu 100200 25
— . S /N 7 Ny
| &2 206 |y |EIFIT 5 |4 5 | BERESHE 2
~ = |2EIAITRL 7| |3 |[BEE VT 150 [ " [45 206| | |[EnF 20
+  |HFRAsSVTF 15[ 32 [AB 5 REEE 85| |4 A |ZUVFEHYE
v |BA_SVF 15| |& |[¥S55H 08| |t |[EF 30| 1Bl [RFF20N—D) 35| (Y AS
~ LR UEDYXT 10 [S (L&KW 3 1B Az 10 Bif 150 [~ [RTEBT
Fh¥ 45| (& [&E 2| |2 [Fusov4 10| 8 [r—a> 5 &) h—)La—>
f'i A o] [ [LemE 15 ’jff thia® 3 g A BEVLEE 10 i'i B
B [ — 4 % " EiE 08 |2 |FLlnriy 2542 11X |RuEmen xdm) 10| |* HS5H
4 L=Rv 1] |3 7z |EZ 05 |,5 [MEEAT 100-200 10] o [FEZAUA 05
| lI2Al 06| |z ™[44 206 [z [ISAl< 01| | |BSRESHE 2| o |BiE 0.7
L |EE 0.3] [ F |CEi 1 |5 [ERE 30| |= "°|cL&S 0.06
R | B35 1| |A | TARD 1 |»  |[FHHE 65| |1 [LR)RTRKE 25| |¥
0o hER 1Y [ELZIES 5| IR |=EE 3 RyF—= 15| |7 " |43
! LR b= FovS 9 |7 |PECAITHL 10|, [EHE 2| B Az 7] |#
g HRE—Y—R 3] |, [Az 0] |2 [Lesw 2 ;): [ZAI=< 03 | [Ee3Y
P AL—# 12 1 ) SPVAIFA 0] 15 —IK 002| | Y543 2| 5 FoRy
FAESHE 1 MYBRITE 2| |4 [TASA 1% |LRbRFroT 5| 1, |AZ
o2 |FE oy 06] [= [T 1] [5 "]k 20| g |EBRESE 3 lm |EEU= 3
v |BE 05| (A [L&SKW 3| |4 n  |PREI—Y—R 1 (& |BDULE 0.5
v [CLgS 0.03| |8 |=iBHE 1 ZIESHYR (EEAE) 25| |4 (BB 1| [F %9 [ mamrLysey 10
4 b |#YA 1 Ep3Y 15 |7 |2 04| |~
7|< TRy 30 — 0.01 AS 5/ | [zLe> 005| |7 [r—a 5
S % [EnSY 5 17;{77 U 7 ) h—)La—> 5| [, [FErasus 03| [¥ LR 5950 30
ff)R—)La—y 5 80 | prmcErL Yy 10 z —B 001] | Fh¥ 15
5 | FrLysy 10| | |ERE 30 5 7 mF—=X 3 |l |FZuv4 10
g A LW =lE RSAR 10 & z  |AE 5
> |R—ay 5 |2 [FLhhsdHAvk 0.8 n o |ESY 10| | I 538 5
EFRE 20| [+ |hhFE 3 A |EIFLKIR 5| [ [FLLut 2542 0.8
A 15 B 1.5 ~ |AZ 5 Y54 05
A BEVAFAS 15 BT 7 P lEmk—La— 5 LR ASR—F 3
A 5 BHHZ 6 gi &) WHER 05 Bk 06
toy— 3 FELHIY # 4 % [ qm ELErLy g 10 L&D 0.03
JAS L)) 0.5 ELE®R 0.7 L&S5K 0.5
HS5455H 0.5 185K 120 (&) A EH DA 80 FELOLYA 0.3
LR ASR—T 3 CEiH 0.3
FELasyLA 0.3 19018 120
188 ﬁiﬁ 0.7
L&D 0.03
60 ;2 120
Y F)y 60




C6H

C13H (H) C148 (k) C158 (k) C16H (K) C178 (£)
B4 Bmb —AHY | |#zsa Bmd —AHY |#us Bad —A&Y | |#zs Bndb —A&Y | |#Is Bmdb — A%y
EEDE ERDE ERDE ERRE ERNE
£ |[BAX(ED 70| |3 60 |3wR/Sy 60| | [#EER(E®) 0| |X  [HAXER 70| |3 60 [3yxs8 60
S O kHE R 10| |7 N LkaE B 10] |5 % [KHiE T 10| |7
% ’1 263 206] |2 82 [mLz8 2 E‘f D EE) 206
2 [z 206 ’/ 5 25 [z 206 'J
- 206 7| N
#® BA S F 25| |4, [HEEL 206] |4 #) ETEHORBBTE 45
3, [BEHVE BWEGL 9 &£ [RXEKE 10] [~ 7, |HEA RSAR 25| |4 |Hftaid 5
EAAVE HEELEL 6| 3. |[MEBE 20| | [BEAvh MELL 15 Cohilrg 80| |3 °0 |&iE 0.1
B [EA 1 Lohinrg 50| |A [BEhvr BEEEL 10 (A |ERE 50
% |z 25| |[F  [Ew=E 45| (Y |EBIT 50| [C [oZEzAIzel 25| |7 [Lhzvsze—uz 15
2 [gmsm(an) 13 |V LR r=hkE 10| |~ [oEzalzel 20| [* [Az 10| % [Eexy 20
’gf FhF 35 i 1A= 08 |, AB 1| 7 [ Eevafa 7 g =5y 20
e AS 50 |5 JAS <) 08| |5 A)SPVAITA 50 ) Y5455 1 65 | (@) rcgrL Yy Ly 10
L |REPVATA 50|17 M35 05 g)oLE ] I PV (O 4 =
L |Lbzid 2542 50 v [LB M FryT 65| |m |¥3FH 1 [ [b3%E 3| i |ZBER 20
L&KW 35 oh IR e 1.3| [ |L&3K 45| |& BB 2 ERE 30
% |ZE% 3 | |PRE—Y—R 12| (I =B 4l v BB 01 12 |AB 10
X &% 03| |Y |FEAESHE 1 |& | EE 1| [ ARESES 5
< [fLEIYE T B e 05| [0 |[#Y4 05/ |® B Funeg 2542 08
=B 55 |7 [ 0.3 ; “s 20 ; LR ES AT 15 *; LR AHR—T 3
o 5 F)IS 58— 005 | 5 | INVREE 25 | L&£Sw 1
B |EIAY 35 | & 3 30| |5 [EZwdY 35 1oL 35 BiE 0.6
z  [Ew3Y 20 £ |ZRISHR 20| | |¥SFiH iz |EL&> 0.03
3 [AB 5[ |3 A)Jayal)— 20| [& [BHE—iLa—> 5[ | [L&SKW 1[5 |[FEaryt 0.5
O |[EBUHER 07| |1 |Zw5Y 15 70 | (@) iR BRL Y 10| |V 78 [;&E 05| 1= [cASA 05
"W FARL Yy 10| |7 [Fexy 25| |7 ) F[CEm 0.1
jﬂ{a‘ W10 | (@ EeerLys Ly 10] [ 8 (@ nAyF—Ek 8 g 10 LM HEYBE 10 ;I( e 130
Ty 4 |F A i
o BEE 1 ; (E)3—4 Lk 70 ; # P HMNATI—R 125 40 | ()T —~y—py— 40
g (R U o Z 75\ 7
= |ZEHE 12| |z |dEEsso8z—HYY 1] |% A M
8 [MYBCE 0.6] [ Y 8 I
= % =1 ~
Y| UB) Iy I RFYY 20| |1& ) I gl
v 5 z |
7 H Ih +
+ 2 | 1)
v 4 A |
v | 5]
— il 7
] 1) [
) v £
H —~ v
- th K
)
H




C6H

C20H (A) C21H (K) C22H (k) C23H (K) C24H (£)
B4 Bmb —AHY | |#zsa Bmd —A&Y | |#ez Bad —A&Y | |#zs Bndb —A&Y | |#Is Bmdb — A%y
EEDE ERDE ERDE ERRE ERNE
O ECI=EET ) 0| £ [BAXEH 70| |3 60 [ayRsR W E A= EET) 0| |E |[BEXEHR 70
L [ksizE @ 10| |= 80 [kpuE Hit 10| |¥ B [k gk 10| | 80 [kpzE F5 10
g [mmmmor mesL 12 % /"\ 20 43, 206 ':’; BER 25 %
I:t B BEAYE BHLEAL 8 o043, 206 |, | Fh¥ 15 RS 206
A RKREKE 12 |4 ) %LV (2 X 4em) 60| |,, |AZ 5 |4
~ |AB 10| |z |BA_SUF 25| (4 |&= 15| | |BTERF 5 |z, |BA_RSAR 35
F |[DECAITRL 7 Bl 1 13 (Bl 03| [~ [hhF 3 REC AITHL 30
A BT EEF 5 |1 (28 80 TAXA 8| [ [CFH 15 B [EWLIIES 35
Yo [@mouLsE 12| [ |Eh¥ 35| [V |fattaith 71 (A [EE 1A Az 15
= | 45am 08| |2 |[Az 10| | |EwE 10| Y [LeSw 1| 1E  [BEeviltfa 7
o [l 3| B (Lt z54% 5 9\3 AS 5| ¥ [FEoavus 06| = [#35m 1
g [EE 2| | [ERE 5{ |, |EEE 55| |y |BIE 05/ |5 |L&SW 5
N=F 1] | |£= % [LEH 43| |z e 002| | |#YA 2
g | BiE 06| [4 [ITal< 08 Y545 3 = |hE 2
] S5 US4 1 [ (L&KW 22| |+ ™ [45L 206| [ [BE 15
F 43 206| |% |LRERRTFEYS 1| [t [B& 0.1 [ Th b 0.5
L L&SKp 35| |TF 7 [zL&ES 005 | [FvRy 30| |7 " [k 8
X [cass 7| P [Lhster—F 3| |® Y (205 5/ |!
’gﬁ) Y1 FLAAR 1| |5 [#at 2| |, [Frry 5|7 Az 5| B [z 25
= |AZ 10| |, [AE 1] |5 [ZRAZHR 12 FLbh oAk 12 |7 [ 30
y  |[FABER 05| [ |=iE%E 05| | % |&i& 0.6 | O B EABELYL Y 10/ lzn [AZ 10
CFill 05| £ [FXrarvA 05 |= 3 2z |Z=ELFGIH) 2
s 1) 3l |y &t 0.15| |z |R—av 5| |2 |LR)STHER 20 T @ MALL LY 10
L [#YA 2| |K | ERE 01| || A BAVAITAT 10] | | FhFE 20| B
N E=L 0.5 ThSA 1|7 |[EeE 25| |7 |FuFusd 10| | |[@9YEH @AM 2
73: 5Lt 20 ST o] |_ FrAY 15 AZ 5 1053 EMDE ke 03
% : & 35 | IAO=(CT)L) 5 ZDEIT 5 |% L&KW
o BB 3 - A4 0.5 LR ASR—F 3| [ (=B
» | ERE 25 3L 0| |k [LRBBR=T 3 L&S5w 05 HYA
z  [Ledng 30 Ep35Y 15| g |[BiE 05 FEAVYA 03 B
+ Lol 7 A 10| | |ZL&S 0.05 Bis 0.6 28 |5k
FhF 5 S e EamrLyL s 10/ [V |FEraryA 0.5 CL&S 0.03
AT 7 I [Lesw 0.4 = 0.2
BHZ 6 hzY 3| &5 120 5 120
ELETFL 4 7—EVE(PDE]) 25 |7
75k 110 Na=F 0.6 Z'; (B) FaakFHY—L 15
L&SKWp 02| |2
HYA 06| |_
7K 0.6




C6H

C27H (H) C28H (k) C29H (k) C30H (K)
B4 Bmb —AHY | |#zsa Bmd —A&Y | |#ez Bad —A&Y | |#zs Bndb — A&y
EEDE ERDE ERDE ERRE
K 60 s,y 60| |3 BBk ER) 0| £ [HBEX(ER 70| |3 60 [3wR/8v 60
B 5 [kmE A 0] | %0 ksiE 5 0] 7
D 206] Y ® [zoLtyvisn® 4] |& Nl 206
-~ 19} A 206 = N\
A a4 206] |,
4 |[BEAYE BEHL 6 |= " [43L 206/ |4 BAHVE BRLEL 30
3, [BEsvr bl 4 |1z g, 0 | SEnEEER 50| |4 |mEahvr BEEHL 20
S=oAF— 20| A& A RTLR 20 SEnEEE 70| |3, | BEE 2
€ [LBS5FLm 15| |~ AEZVASIT 20| & Bif 0.15
B A SHT 0| |E  [oEcAIzeC 25| |l |[ZRASHZR 20| 1B [x#% 4
B [Lening 50 [A  [ELSIES 15| P [2w3Y 25| |A [casa 4
2 |zn# w| Y Az ol £ o5 1| P [armim 6
L |1AZ 10 M EPVAIFA 8| |z ¥ [@R—a—y + |LEHE 35
S ] 05| |4 [ED)ULE 3|7 [EELErLyy vy 0] |, [BWLEVRH 5
£ |YIFH 1|z, |¥35HE 1 (= v B L&SH 3
BARESHE 2 =B 5[ |85 |BREHER RIAR 10f | 1
L (1) 12| |AY [L&SK 45| [ [sozvinyk2mm) 30[ |R 30 [z=p=k 30
x (=Eg 08| |[A [#YA 05| |P  [FEWLIIFES 7
& [FEoavys os] |& ™[5 20| M1 [oZcAlzel 11 |E [R=—ay 5
5L1,> AL—$ 0.3 ;;—; ;ﬂ AS ol |- |E2 35
C Bif 03] % FoRY 30 PhE 5 |2 [EXRY 30
o |SLEd 003] |7 |EB3Y 5| ;g |E#Z I AS 7
y & 20| g [EwFE 7] |5+ " |EELETFL 35 £0Oy— 2
T x |AZ 5 piiS 100| |% [/3&Y 05
I |R—a> 5 [ 77 (@) nRRLy LY 10 ¥ |LMABRR—F 3
Py r Y 2 |aE 0.6
LHL 15 |F *|laprasi—2x 125 R ETE) 0.05
AS 10] [® 7 L&5K 0.4
) R—)La—y 8 |21 Y FELavyA 0.3
YS5453h 1 & 4 B=UzT 0.1
L&5KP 0.2 H e 204 = 120
FxravyA 02 |5 >
BiE 02| |# ¥ (A YATS v L 15
BICLES 0.03 Ly
H
H
A
v
a
I
3




